SOUTH SYDNEY HIGH SCHOOL,

MATHS - EXT 2 WORKSHEETS

- INTEGRATION

EXERCISES SET 44
~ FURTHER PRACTICE ON. INTEGRALS

This set should bé used to consolidate the methods il~
lustrated previously, and give practice in discriminating
between them. B ‘
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Evaluate the following definite integrals, leaving
results in irrational form.
[ . 2 2

x dx dx log x
L f T 7—1*- flx(lﬂ ) __5_;1_‘[1 =X 7~,~'_'j;dx ‘
x+1) dx ' 8 /2 dx ‘
) -2+3x-x LT Jgces x+2 sin‘x .
4 2
: dx
fzx. log x dx 81. flm
1 R S
2,7% 4x 8 J 7+x dx
0 X i —_ l+x+x_+*x S
a/2
f y dy J a—x
e & .
1 .2
9. xwi_xi f cos?mx dx,
0 X m integral ‘
af2 » -
x2/aZ-x% dx 2[ seczx tan x dy |
0 “ 70 ‘;
9s. f x(log x) 2dx o
S | - B, it
L n/2 -
x2+4 dx 98 éos x_dx
x(x+2) ) 05 - 3 sin x
rra— i (3 stnd - 4 sinie) o
99. f _ ;ggf 2 sin8 cosB{(3 sin6 - 4 sin
0( _x2) 2 - 0




SETH (pagel40) (ANSWERS
1. % log (x?+4) 2. X
3. 3 log(x-2) + 2 log{(x+2) 4. -4 cos'x
S- -;— secix 6. %{x + sin x]
1. -x cos x + gin x 8. % x tan 2x +% log cos 2x
’ |
3. = tan~! 2x —% log(1+4x2) 10. % x? - -2]—' log (1+x?) 1
1_1_'. z log{x+s) - log(x+2) 12, x = 3 log(x-2) + 8 log(x~3)
E :loz(xzﬂ#l‘) - 7- tan'l(—';-) SR _ o ‘ : 1 - |
i ‘ : $8. + - . £ sin® '-’-— 7
3 +% W2+ _;_ x + ok log(Zx-l) 5_ log(sec x itan x) - sin x 69. 5 sin <3 sin’x
: 10. x+log(x-1)-log x 11 x ].og()h‘v’_2 1) /? 1
2. 2 log[l+/x+1] 13
. L.y
&‘ P 108(5.) E
76. 1 ’ 1. ‘
Y " m
S 2% B ’
: 2 i B
22. 2T + log[xh/_z 1) 8. los( ) --1-+ 1
[ S L a3 ’
_2_&.‘ 3 tan 3x + g tan 3x ‘87. ,!_(1 - 10' 2)
4 llw x ' 8. 17 0. 3 L.
% tan?x + 1og cos x x ' "
:2 4 i _91‘ h‘l;;f a ‘92. % ._é'
1 103(2 + tan x/2) s 6 k¢
,2‘“3‘”‘/2 95. 20log 2 -2lg2+% % l¥yles
1 b
97. 37 E _ o _9_8_. ‘5 1.08('2' - - :]
Lo 2 !
R 9. om 0. %
M. - x%cos x+ 2x sin x + 2 cos x r
3. -21 log(x=1) - & log(x-2) + = log(x-3) i '
2. log(e®-1) 317. tm"‘(/— tan x)
1 5x4~7
8. 70 * 39. ';':' log » %5 E
2 1 : !
. 2 log' x - 2 log(x+l) + =1 - T2 1
|
4. 3(x log x - x] 42, tan~! (e* ) |
A3. .2—(5"3"7"'”5/2 A& [tun‘lx -4 tln 1 E)
5 =" 27 2
X I
45, nn'l(%g—l' 46. ;—(un 2x - 2 cos 2x)
/5 : ——
A7. 7§' 10:(-z£i—;,73-) 48, logl(x - -}) + "?v‘?_“]
49.  -2x+ 710g(3*x) 0 du-efm | N
51, log(3d + sin?x)
32, 4 log(mm) - L 10g01-x) - 3 tanx
33. log tan x or - log{cosec 2x + cot 2x) )
34 2D logtx-D) - 3 x
x - x = 2
55. log(e -1)_— x - a6, log (22— EE iU
51, /x*Ix2 *'g' log{x - -21 + /x23x+2) !
8. - -25 cos3x : :
Sl 1 1 g 2x-1
9. 1 log(1-x+x2) - 3 log(I+x) + oy tan 1(2—"‘;’-) :
60 —l'(xztun"lx + tan"lx - x) 61 lo 1+2x
=2 == B T 7
$2. .l.[,‘,, X2 + 9 sin~! -’5) Q 7(1/-9+x2 + 9 log lx+v/9fx2}] o
b4, 3(%2)3’2 65.
66.  -e “(x242x+2) 67.




